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Run 5080 quartetwise, posH(O: Beam DH

— Laser ON Entries: 11171 Entries: 9866 aam1_1aeh._parko
- Mean: 15.0958 +- 0.0066 Mean: 6.0522 +- 0.0033 9866
— — Laser OFF Std Dev: 0.9286 +- 0.0062 | Std Dev: 0.3312 +- 0.0024 6.052
— S0 DBV 0.3312
|_ Jd |. J.J | |\ | | 1 1 | | 1 1 J | 1 | 1 1 | | 1 1 L1

4 5] B 10 12 14 16 18

Run 5080 quartetwise, asym0Osub: Beam ON
— Laser ON Entries: 11171 Entries: 8866
— Mean: 30,8777 +/- 0.45T1 Mean: 0.1121 +/- 0.1678
B — Laser OFF Std Dev: 48.3103 +- 0.3232 | Std Dev: 18.6641 +/- 0.1329
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Run 5080 quartetwise, negHO: Beam DIN

Positive Hel (ON): 15.095796 +/- 0.008786
Negative Hel (ON): 14.553183 +/- 0.008290
Positive Hel (OFF): 6.052187 +/- 0.003334
Negative Hel (OFF): 6.050219 +/- 0.003280
-------- Sums and Diffs

On Diff: 0.542613 +/- 0.007976

Off Diff: 0.001967 +/- 0.003297
On Sum: 29.648979 +/- 0.015107
Off Sum: 12.102406 +/- 0.005734
-------- Asymmetries
On Asym: 30.924145 +/- 0.455438 (ppt)
Off Asym: 0.112125 +/- 0.187904 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 17.546573 +/- 0.016159
BkSub Asym: 30.812021 +/- 0.492678 (ppt)

— Laser ON Entries: 11171 Entries: 9866 anmi Jask noaHd
[ Mean: 14.5532 +/- 0.0063 Mean: 6.0502 +- 0.0033 9666
== — Laser OFF Std Dev: 0.8762 +- 0.0059 | Std Dev: 0.3258 +/- 0.0023 6.05
— oo 0.3258
:I ]l .1 |. 1 | 1 1 | 1 1 1 | 1 1 l L 1 1 | 1 1 1 | 1 J. 1
4 B B 10 12 14 16 18
-------- Histogram Vars
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Run 5080 quartetwise, posHO vs time
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Run 5080 quartetwise, negH0 vs time
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Run 5080 quartetwise, bcm vs time

140

120

100

B0

60

40

20

Entryh



